APPENDIY A
GEOGRAPHY ACHIEVEMENT TEST ON STRUCTURE OF INTELLECT

MODEL
(Preliminary Test)

4
. Read the following instructlongfcarefully:~

I
&

1. This test consists thirty items' in geography.
/
2. Read a question at a time, and;énswer Proceed with the
test one by one. Do not read e Wwhole test in the be-
ginning, because this will taﬂe a lot of your time,

3. Each question is eof dlfferentgtype. Examples are given.
Read it carefully and answer.w

4, 1If you are unable to answer a: particular question, do not
waste time, but go on to the néxt item,

5 Complete all the test items. %i

6+ If you finish the test beforerhime g0 through your |
answers again. A

7. Do not open the booklet uatilf%ou are asked to do so.

8 You have to write your answers in the space provided
in the test, ‘"

9¢ A sample item is given below. .

Question No. 27. ®Put a tick mark _/ against ONE of the
following four pairs, whidh shows the same relatiomship
of the given pair.

!
4
f

Given pair ¢ Italy-Rome.

JFrance Lyons

fgustria = Vienna _/
‘England » Shefield
Bpain - Barceelona

K

10, If you have any doubts regardlng the instructions you
may ask, before you open the booklet.

[

Name g Boy/Girl
Date Residence Urabn/Rural
Class Seetion | Age Years Months.

o )
School_~ ‘ L

i




GEOGRAPHY ACHIEVEMENT TEST ON STRUC?URE OF INTELLECT
MOBEL

P

(1) Explain the meaning of the fellowing terms in one or
two sentences.
EXAMPLE: Atmo&phere. Our earth is surr-
ounded by a thick layer of air. This
cover of the a?r 15 called the atmosphere.

a. Plateau : 4

i
»

be Flow tide :

¢, Deciduous forests

de Trople of Capricon :

(2) Underline the word which does not belong to the group.
EXAMPLE:  Air,  Wind, Sea breeze, Hemispher

}

a. Mediterranean, Maritimg, Tundra, Mackenzie.
b. St. Lawrence, Amazon, Rhine, British Columbia.
ce Kangaroo, Seal, Whale, Walrus.
d. Maize, Rie, Grapes,ﬁ Barley.
(3) Fill in the blank by choosing the related word from the

list given in brackets,

EXAMPLE: Ground - ,street - automobile

¥

Air - - route =« agioplane
(aeroplane,’ bird, kite, baloon)
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Qe Iron ere =« steel - machine production

Soft wood ~-~ wood pulp =

(eabinet work, textile, paper industry, ship building)
b. Northern hemisphere - summer - July

Southern hemisphere o winter =

(January, July, Septerber, April)
c. India’ - Hill station ;= Simla

Europe « Tourist centre -

‘ (Germany, France, Engléhd, Switzerland)
d. India ~-codton - hmedabad

. t’ﬁ
France ~ 8ilk = A

(Marsellies, ,Paris,: Lyéns, Bordeaux)
: .
(4) Write down THREE missing facts, necessary to answer
the questions, ¥

EXAMPLE: 8o0il is fertile. ggfficient water is also
there. Labour is available. Cam rice be cultivated in
this area? v

Missing facts: i. The average temperature of the
place is mot given.
ii, The average rainfall of the place is not given.
iii. Details about the sun shine are not known., etc.
)
a. A town is in the equatorial, regien. It is not affeected
by any wind system, Will the summer be too hot?

Missing factssi,.

ii. il

iii, i

b. An Ocean current is passing by the coast of a country
in the frigid zone., Will there be more cold in winter?

Missing facts:i. ’ &

8l
ii. i

i

{

iii.



iii

¢e The people are brave. The Sea coast is straight. The
sea 1s calm. Can trade floursh there through sea?

Missing facts:i.

ii,
iii,.

de The water vapour condenses in the atmosphere. The cone
densation reaches the saturation point., Then there is
precipitation., Will there be snow fall?
Missing facts:i.
ii.

iii,

(5) Suggest THREE ways in which%the following TWO are alike.
EXEMPLE: Fog and Dew _
i, Both are formed becauseﬁef atmospheric conditieons.
ii, In both ecases the water vapour is condensed,
iii, Both are having water partieles.
a. Trade winds and Polar winds,

Answers:i.

ii.
iii,

be Waves and Tides.
Answerssi,
ii,
iii,

¢, Glaeier and Running water.

Answers:i

ii.

iii.




iv
d, Earth’quake and Voleana.

. Answer:i,

ii.

iii,

(6) Answer the following questions in a sentnce.

EXAMPLE: What would be the product from the sea,
where the salinity of the sea is high; the sun is
usually hot and bright?

Ansver: The product from the sea would be salt.

a. What would be the profession of the eoastal peoplé,
where the sea coast is indented; the country is in
temperate region; the people are of adventurous type?
Ansver,

be What will be the effect upon the sea water, if it is

a temperate sedy having several rivers bringlng water
and the region gets good rains?

Answer.

¢. What would be the source of power of a country, where
there is no coal or petroleum deposits, but having
mountains and geod rains? f

¥

Answer,

(7) Fill in the blanks.
as The highest mountain peak is

b. is ealled tﬁe dark centinent.

c¢. The assumed imaginary circle, that divides the earth
into two eqmal parts is called .

d. The imaginary line that joins the places hav;ng‘thé
same temperature is ealled . .

(8) Supply one additionmal member to the following:-
EXAMPLE: Delhi, Bombay, Calecutta, __Madras
a. Himélayas, Appennines, Rockies, .




b. Arabian sea, Red sea, Mediterranean sea,

e, Germany, France, Spain, _ .

{

de Ever green forests, Monsoon forests, Deciduous forests,

H

(9) Fill in the blanks by selecting the suitable word from
the given below:- '
EXAMPLE: Temperate region is gooler than the tropical
region,
(eooler, hotter, more wet, less wet) -

a. Equatorial forests ean be ieplaced by .

(wheat cultivation, rice cultivation, tea plantation,
rubber plantations -

b; The antieyeclone indicates a __ weather,

(bad, ec¢lear, dry, cloudy)

Ce Whig we climb up a mountain the barometer reading
wi o

(increase, decrease, remain the same, change-
according to temperature)

d. Monsoon winds are similar to .

(Trade winds, Anti-trade winds, Land and sea-
breezes, local winds)

(10) EXAMPLE: Write down the climatic regions of Europe
in order.
i. Maritime type of climate.
ii. Continental type of climate.
iii. Mediterranean type of climate.

a. Write down the natural vegetation regions of North
Ameriea in order.

VRN, S W W

b, Write down the factors affeeting the temperature of a
place in order of importanep. .

WEERMEM UER YEN W
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(11)

Ge

b.

de

(12)

A.
be
Ce

d.

(13)

vi

Write down the names of the continents in order of
their size. -

PSR W W

\ t
Write down the names of various agents of weathering
on rocks. ¢

S L YRS MR R

Write the number of the suitable match in the space
provided.

EXAMPLE: Prairies ( 3 ): i. Industrial area of
North Ameriea.
'+ 2. A forest region
3. Wheat producing areas
‘ of North Amerieca.

Harricane ( ) 1. a season of the year
. 2. a type of eyclone
Winter ( ) 3., an imaginary line
4, related with denadation
Barometer ( ) .5, a round object
: 6. used to measure air
Artie cirele « ) pressure

7e eqnatorial region

Write the number of the suitable mateh in the
space provided. -

;:!' f

EXAMPLE : same as for q&estien No 11

Earthquake ( ) ‘1, rain
2. eleetricity
Monsoon ( ) ' 3. destruction
4, steel
Iron and coal ( ) 5, textile
y 6. smbke
Water fall { ) ¢ 7. lava

Note down in short, THREE different consequences
of the following:e - .



Qe

be

(14)

b.

(15)

e

vii

EXAMPLE: If cyclones come daily.

Consequences. i. Air traffic may not be possible.
ii., After the cyclone there will be clear weather daily.
iii. A lot of destruction'will be made to humanity.

If the depth of the Oceans decrease to a considerable
minimum,
Consequences., i.

ii.

iiio J
r &
If the Great Himalayas sink down.

Consequences.i.

ii,

iii.

List the various uses of the following:- (limit your
ansver to three)
EXAMPLE: Barometer.
Uses. i. To find out the coming of the cyclones.
ii, For the safe navigation of ships.
iii. To find out thé height of the mountains.
¢

Maps. *
Uses,.i.
ii.
iii.
Globes.
Uses.i.
ii.
iii. :
Write down the words giving the same meaning or the

uses associated with it, in the following:-

EXAMPLE: Igneous rocks: Plutonic rocks, voleanie rocks,
‘ . granite, basal%, minerals, etc.

Denudation:




viil

be Temperate grass lands:

(16) Write down THREE facts concerned with the follewing:=
EXAMPLE: The mist is:
i. dangeroué for the air traffie.

ii, different from dew.
iii, having water partieles in it.,ete.

a. The precipitation may be:
i.

ii.

iii.

be The Great Barrier reef is:

1.

ii.

Il
b

iii.

(17) What would be the~differen£ consequences of the follow=
ing in the lonéfun? (1imit your amswers to three) _Jo»

-EXAMPLE: If the rainfall is stopped on earth.

Consequences;i. Cattle rearing will not be possible
since there will be no grass.
ii, People will die as there will be no water.
iii. There will be a change in the climatical eondi-
tiens,, ete. )

a. If steel is not produced on earth.

1

Consequences.i.

\ ii.

iii,

be If Africa changes its posit;en with Europe.

14

Consequences.i.

ii.

iii.

[t d
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2o

be

(19)

L

b.

Coe

.Emu Title:s

ix

Answer the following questions brieflys- (limit your
answers to three)

EXAMPLE: If Ganges changes its present edwrse and
flows from Hardwar to Kanyakumari, how will you orga-
nise a plan for the economic activities of India°

I will plan for '
i. linking of all the small rivers with Ganges.
ii. the internal water ways, along the rivers systems,
iii, the irrigational system through ecamnal for the
whole of India,

If petroleum is found out in abandance in India, how
will you plan for its maximum use for the develop~
ment of your ecountry?

I will plan for

iie :

iii

If cocoa cultivation is found suitable to India, how
will yon organise a plan for its introduction in large
scale?

I will plan for
ie

ii,.

iii.

Give ONE interesting title to the follewing:-

EXAMPLE: Manchester
Lancashire’
Ahmedabad Title: Textile towns.
Bombay -

Kangaroo
Cola

Ostrieh

Sun
Eelipse
Comet Titles

"New moon

Coal
Diamond
Lignite Title:s

Coke



d. Tropieal
Temperate
Frigid Title:

Polar
{(20) Arrange the following words into FOUR different
eategories,

EXAMPLE: rice, Godavari, coal, tank, eotton, Amazon,
lignite, canal, Indus, iron, well, tebaececo,

rice § Godavari § iren § tank
cotton § Amazon § coal { canal
tobacco § Indus § 1ignite § well

a. Gibralter, Mississippi, Barometer, Palk, plain,
raingaunge, platean, Bering, Seismograph, Thermo-
meter, mountain, Ganges.

§ | §
| | §
§ § §
§ § |

be spruce, coffee, slate, Warsaw, Oslo, gneiss, tea,
pine, cocoa, marble, Berlinm, cedar.

§ § §
§ § §
§ § §
§ § §

(21) Write down the words with opposite relationships te
the words given below:=

EXAMPLE: Tropie of cancer « Tropie of ecapricon
Words Opposite words

as Westerlies

b Leeward side

¢, Longitude
d. Doldrum




¢
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(22) 1Indicate the correct order of events by writing 1, 2,

e

be

Ce ___

d.

(23)

Qe

and 3 in the blanks,
EXAMPLE: _1_ Vapourlsation takes place at the surface

of the sea.

-3  BSaturation point is reached and precipi-
tation takes place.

3. Large amount of water vapour rises up
in the form of ceclouds,.

— The worn out roecks are deposited in some other
places by rivers. - 5

- It is earried away by the running water,

—. Rocks are being worn out py the natural agents.

The Indo-Gangetic plain receives its rainfall from
this side of the monsoons,

— Since the monseons cannot cross the Himalayas, they

blow north west, following the line of the mountains.

.. The monsocons blowing from bay of Bengal come in

contact with Himalayan ranges of Mehalaya.

The movement of molten underground material causes
the solid crust to shake,

— Sometimes the molten material cannot find an exit,

then they move.

— They cause tremor or earthquake.

__ Paper and wood pulp are produced in the factories
of the coniferous forests,

— Trees are eut and logs are stored near the banks
T of the river in winter.

— The rivers bring them to the factories in summer.

Write THREE possibilities when the fellawing TWO. are
present together.

EXAMPLE: Volcanic eruptien and
eyeclone,

Possibilities:i. lava will be ‘thrown all around the earth.

ii. black soil will be found everywhere.
iii, fertile fields of the plains may be
spoiled.

Eskimos and equatorial forests.

Possibilities.i.




b.

Ce

"(24)

de

xii
ii.

iii,

Monsoons and Sahara.

Possibilities.i.

ii,

iii,

Anstralia and Northern hemisphere.

Possibilities.i.

ii,

iii.

List THREE essential conditions (attributes) needed to
achieve the following purpeses.,

EXAMPLE: Purpese, (Cultivation of cotten.
Conditions needed: i. black soil. -
ii. rain at the early growing season.

iii. dry elimate and bright sun at the
harvesting season,

Purpose. Cultivation of whegt.
Conditions needed.i.

ii. '
iii.
Setting up shipbuilding unit.

Conditions needed.i._ .
ii.
iii.

Bstablishins stee lant.

Conditions needed.i.

ii.
iii,

Flourishing of lumbering industry.
Conditions needed.i.
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ii.

iii

(25) Underline the appropriate word which comes nearest to
~ the description of the following:w .

EXAMPLE: White and lisht.
.~gold, silver, gluminium, copper.
a. Deseription, Rise fall.
sun, tide, wind, moon,
be Descriptien. Gheap and fast.
Airways, Railfways, Waterways, Road ways.
c. Description. Weatherins and transportation.
-river, aetion of the sun, atmosphere, frest.
d. Description., Natural resoureces and hard worki eomle.
South Amerieca, Burope, Africa, Australia.

(26) Following statements are either a fact (A), a possibility
. (B), or a name of semething{(C)., Mark A, B, or C against
each sentence. o ,

EXAMPLE: There were volcanoes in India long ago (B).

a. The natives of NewZealand have wooden house which
meet the requirements for a cool climate.

)
b. The word chinook means a type of wind. ¢
e¢. Marine ;rGSSion is more in the temperaﬁe coastlands( , )
d. Aeroplanes are fitted with pressure eabins ¢ )

(27) Put a tick mark against ONE of the fellewing four pairs,

which shows the same relationship of the given pair.
For EXAMPLE see front page item No: 9,
a. Coniferous-timberins:

/ ) Deeiduous bread leaved trees

Grass lands « ecultivation
BEquatorial = rubber
Tundra - MOoSSes



b. Frost-rock:

L‘,M Wind :}%
Gt Glacier
. Wave

Atmos

Ce Mountain-Himalayas:

d. Petroleum-power:

l;

Ocean’
Riven;
Desert
Platean

Iron’
Waten
Cottan
Saltﬁ‘

¢

xiv

sand
rock
coastline
rock

Indian Ocean
Missori Mississippi
Thar

Deccan

. 8teel production
electricity
textile
chemical. industry

: £
(28) 1In the given problem situatiion, which ONE of the given
facts is most important and which one is least important.
Mark a tick _/ for most impprtant and mark a X for least

important., ¥
EXAMPLE: Wood pulp groéuction
i. Good transportation é%cilities are needed ¢ )
ii., Soft wood forests shéﬁld be nearby (/)
1i1, Electricity should be available | ()
iv. Dry weather should péevail (x)
ae Problem: Measuring daily gggrgge temperature.
i. The maximum tempergtaéé is given « )
ii. The recordings of the~ﬁaximum and minimunm,
thermometer for a day is given. )

iii,

iv.

The recordings of theﬁthermometer which is

placed on the direct rays of the sun is giwen ( )

in a month is given.

The maximum temperataﬁe of all the days

¢ )

be Problem: Flourishing Dairy industry.

i.
ii,
iii,

iv.

Space for pasture is 5eeded

3
s
toét

Suitable dlimate is necessary

Protection from wild animals is necessary (

Market for the produoﬁ is necessary (

(

(

L W .



C. Problem: Cg;tQVgtion of sugar-cane

i. There should be loamy soil and good rainfall ( )
ii., The land must be marshy « )
iii, Irrigation facilities should be available « )
)

iv. Good manure is nécessary (
(29) EXAMPLE: For producing steel whlch ef the fellewing
will be the most important. Mark a tick _/ against it.
Cheap labour, coal deposits, _/ railways.

a. Whieh of the following would be most essential in
" producing hydro-electrie power?

Water, Mountain, Dam

" b. For Qﬁnging rainfall, whiech of the following would be
most fessential?

wind system,' Forests, Rivers.

¢c. For density of pOpulatien, which of the following
does help most?

industries, mineral deposits, fine climate.

d. For tea plantation, which of the following weuld be
the best suitable?

mountain slopes, density of population, temperate
climate.

(30) EXAMPLE: Choose by marking a tick _/ against the
statements (from a, b, ¢, d) the ceuntry which gets
the given benefit.

Given benefit: ‘warm ocean currents and prevailing
westerly winds give the north egstern coast of Europe

8 £00d climate in winter'.
a. Italy is in the Mediterranean coast. ¢ )

b, England is in the north west of Europe (/)

¢. Russia is a big country not physically seperated ( )

‘ £ .
de Austria is im Central Europe rom Asia « )
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. « Choose one of the fellowing statements that has
a direct bearing to the given fact, Mark a tick _/
against it. -

Given fact. ' Hot summer and warm wet winter is
favourable conditions for fruit production'.

a. In northern hemisphere a place having rain in
. winter season

b. In northern hemisphere a place having hot .
summer and rains in June and July. ‘

¢. In southern hemisphere a place havingu~?i(3¢lmw

-rain in December and January and : ** liot sun

in May, June, and July

d. In southern hemisphere, a place having hot
sun in December, and January and rains in
May, June, and July. (

Choose by marking a tick ONE of the following four
places which may have the given requirements, for
wheat productien.

Requirements. 'The growing season should be long,
cool, and moist. The ripening scasen should be

., Warm gnd dry, b%t not toe hot. The tempergture
ths®.

ﬁust be gtleast 15,5°¢ fo: nearly three mont
A. A temperate region having no rain at all (

be. An eguatorial region with a heavy rainfall
and bright sun shine.

ees A place in between 30°: and 40° north latitudes
having rainfall of 100 cm in winter onlk

d. A temperate region having rainfall both in
winter and summer and gets 150 to 200 em of rain(



